% 3% % oM K ZXKFF M E2FFIR) Vol.3 No.2
20014 12/ Journal of Chang/an University( Social Science Edition) Dec. 2001

MR A E

( , 710064)

DB BT A SRR R T Tk 5 8 RIS FUEP BB 1A 69 R AR AUTE F 49
T ABATT T AR A6 F A AT R P02 A ECRE & AAT R A BT T 26915
A& EESMT BEZS AT 2T A8 F6 Foh,
DA R R R T SRR AR B e A
: G231 : A

Books and Periodical Publication and Fund
Application Benefit

CHEN Zhi-he,YAN G Bin<zhi
(Magazine Office, Chang’an University, Xi'an 710064, China)

Abstract Based on quantitative analysis of fund application benefit, the change of cast, profit,
profit rate that periodical impression runaway results in, with money time price theory and real
examples are analyzed, and the basic standard of appraising fund application result which is the
same—term bank fund credit profit rate is put forward- Meanwhile, the occupation fund of storage
effecting on fund benefit rate is analyzed.
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1« » 199+ 2000 ( )
/ / / Mo
1991|540 000 0. 30 0.40 | 168000 | 480000 192 000 60000 12000 24 000 143
1992 516 000 0.31 0.40 | 160948 [ 460 000 184 000 56000 11760 23052 14. 3
1993 552 000 0.33 0.40 | 181960 | 490000 196 000 62000 14260 14 040 772
1994 432 000 0. 50 0.60 | 216000 | 384000 230 400 48000 19200 14 400 6. 67
1995 420 000 0. 51 0.60 | 214200 | 378000 226 800 42000 17220 11739 548
1996/ 396 000 0. 52 0.60 | 205920 | 360000 216 000 36000 15120 10 080 4. 90
1997|382 000 0. 525 0.60 | 200550 | 360000 216 000 12000 5100 15195 7.58
1998 300 000 0. 70 0.98 | 210195| 294000 288 120 6000 3900 77 925 37. 07
1999 360 000 0. 65 0.90 | 234000| 360000 324 000 — — 90 000 38. 46
2000 432 000 0. 54 0.81 | 233280| 432000 349 920 — — 116 640 50. 00
4330000 — - 2025053 3998000 | 2423240 322000 98560 397 071 19. 61
. 2000
1 , P(1+ i)"= 12000(1+ 10% )"
( 2) = 31124. 4 (1)
N N N o . pP— ( );
[ ;
0.6 c N ’
Ap
0.5F
2 oak Ap= P(1+ i)' = P= 31124.4- 12000
= osf = 19124. 4
ok 5000
o1k 60000 12000
|<;9| |9I92 19|93 1;94 1;95 19196 1;97 1;98 1;99 2()'00 » 10 311244,
A HH(N) 19 124. 4 106 ;
5 40000
1% : 12000 .
. 23. 0%% 8.78 .
1, 1991 60000 12 000 , 2000
\ 500 | (W i) ( 2)
2 ( )
o Iz
N P P(k )N/ AP/ M/ M/ m m'
1991 12 000 31124. 4 19124 4 24000 36000 14.3 23. 08
1992 11760 27729 15 969 23052 34812 14.30 23.33
1993 14 260 30568 16 308 14 040 28300 7.72 16. 88
1994 19 200 37415 18215 14 400 33600 6.67 17. 07
1995 17 220 30507 13 287 11739 28959 5.48 14. 70
1996 15 120 24351 9231 10 080 25200 4.90 1321
1997 5100 7467 2367 15 195 20295 7.58 10. 38
1998 3900 5191 1291 77925 81825 37.07 39. 66
1999 — — — 90 000 90000 38.46 38. 46
2000 — — — 116 640 116640 50. 00 50. 00
0 <5000 25000 M m'
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. N= 0,i= 10% ’ ,
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0. 10
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M M m m' W 12
® © ®-0 -0 @ ® ®-6 -0 i p
1991 24000 36000 12000 14. 30 23.08 8 78 10. 00
1992 23052 34812 11760 14. 30 23.33 9. 03 10. 00
1993 14040 28300 14 260 7. 72 16. 88 9. 16 10. 00
1994 14400 33600 19 200 6. 67 17.07 10. 40 10. 00
1995 11739 28959 17 220 5. 48 14.70 9. 22 10. 00
1996 10080 25200 15120 4. 90 13.21 8 31 10. 00
1997 15195 20295 5100 7. 58 10. 38 2. 80 10. 00
1998 77925 81825 3900 37.07 39. 66 2. 59 10. 00
1999 90000 90000 0 38. 46 38.46 0 10. 00
2000 116640 116 640 0 50. 00 50. 00 0 10. 00
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KG 20 34. 00 1.50 3. 00 18 30 20 60.00 |— — 30. 00 26. 00 76. 47 0. 20
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